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Name: School:
Team Number:
Event 1: Arithmetic
- -
Loa+s™:= 3
Answer: ¥
4,1 _z
25 g
2. Mary received a 98, 86, 92, 78 on her math tests. What is her test average?
@
Zi ; 985
qe 9] 359 s
79 32 Answer: S X.5
354 Lo
32
T20
3. Substitute the valuesto findZwhena=1, b=2, ¢=3, d=4, e=5.
d
5 + a+(c xd)
e? — =
e
Answer: 22
_ 2 ,
5% = 5 +1+(3%4)
5
TS - 53 - 22

4. Using the equation Distance = Rate - Time (d = r - t) answer the following question.
You travel at a rate of 48 miles an hour for a time of% of an hour and then you travel at

a rate of 24 miles an hour for a time of % of an hour. What is the total distance that you

have traveled?
. . ,
(/3/ he g = |2 Answer: _[G pifes

Zq/;w X ‘29 = Y
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Team Number:

Event 2: Geometry

1. Which of the following triangles represents a regular polygon?

o D /Q&
ChN = \
Sem / Sem fem i% VZem Scm/ \\Sem
F l r

/50. i = S e\ Answer:
50'“ fem dem
A. B. C.

2. Which two roads intersect so that they are perpendicular?

C

AV
/ [/

N

* |
/ / Answer:
F o —

3. Find the area of the shaded region. s S
0 in _ M"Ji‘
Po- 9% 15 - 135 o
in Answer:

136 — 2 = (,1.5

4. Find the perimeter of the figure below. (Not drawn to scale)
O

[S4 {5+ 12tz Answer:

2in

Csk D

(7S n°

5L/ /N
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Name: School:

Team Number:

Event 3: Random Hat

1. Ifthere are 5 eggs on the table, and you take 2 eggs, how many eggs do you have?

Answer: 2

2. IfI fold my square blanket exactly in half, the two halves cannot be what shape?
(A)Square (B)Rectangle (C)Triangle

Answer: /4

3. If Tara trades Dan 7 Skittles for 2 Tootsie Rolls, then how many Skittles will 14 Tootsie
Rolls equal? I¢?

Answer: W

4. Use fhe numbers 1-7 to get a sum of 12 along the rows, columns, and diagonals. Each
number can only be used once.
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Name: School:

Team Number:

Event 4: Problem Solving

1. Jimmy bought 17 notebooks for $1.25 each and 23 pencils for a total of 50 cents. How much
did he spend for the notebooks and pencils?

(.25
11 Answer: 2/ 75
2125 4+ D.5D

2. Bradford bought a bag of marbles listed at $3.00. If they were on sale for20% off, how
much did he pay for the marbles?

3,00 S.00
2.2, ~0.6O Answer: 2.4/ O
/' /._."\U PO “
L0V 2.4/0

3. The table below shows the scores for the students on the Wisconsin Math Team. What
would Kao have to score for the team to have an average score of 27?

Teammate Score 23
Phillip 23 < x5
Lisa 18 - /35
Juan 27 = Answer: _ oG
Melina 31/ 36
Kao ?

4. Phil received 36.7% of the 1000 votes for class president. If Lil received 92 less votes than
Phil, what percent of the votes did Lil receive?

(000 X 0.367 < 307
— %2

PN

275

Answer: _ ¢35 7.
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Team round

1. Place the names Jaques, Bruce, Gill, Flo, Dory, and Nemo in order from left to right
based on the information below.

a) Jaques is on the opposite side of Bruce.
b) Gill is between Bruce and Flo

c) Dory is behind Jaques

d) Nemoisin front of Flo

e) Jaquesis first in line

\ za%aé_g’ DO Fv& Nemo F/o Gm Bmw
I .

2. | have a collection of 14 coins. Some are dimes, some are nickels, and some are
pennies. When | count up the money | have 61 cents. How many dimes, nickels, and
pennies do | have?

2
L

Gl
P. . ;’ Answer: - (., VES /)
- <
,\) = )a; ’%w rAy P - /_xil’llu.;u}
o 20 M = 7 ,Jf‘l(»"/‘g"
Z) ) ,({\3 f) = o imidy

3. You have 5 shapes as shown:@ﬂ@x ({of+ /}\-*— 3 1))

Using the numbers 2, 3, 4, 5, 10, place them in the shapes so that using the order of

operations, the answer is 22.
Answer: @+( @X( jo|+ /}\+ 3

)



4. Calculate the area of the figure below. (Not drawn to scale).

A;j T lx1§ =log
8 10
o AA = Jixl‘{ K @ - I 2.
18 s
z ﬁ() - lez_-)u.xe Yg
8
Answer: [ (L&
- 0%
{2
LS
163
5. Start with 4
1. Addtwo Y+ 2 =6
2. Double your answer [P
3. Find the product of 2 and 3 L
4. Add product fromstep3tostep2 [/2tc = /§
5. Take half your answer from step4 9
6. Subtract 2 from your answerinstep5 9., -7
7. What is your final answer?

Answer:

6. If 5! means 5x4x3x2x1 and 53 means 5x5x5. What is %?

L % 5’)(/?%,’(&,5"(/2’ A~

-

/g‘ £ X3 Answer:

7

10
g

oc 3 /s




